FHA4FE7A10B#IT SEEERMEEHEEEEZRERRE
FHEHT
= x s BHEEHN) _ BEEH(N) _ SEHE _
5 8 5 5 8 5 5 = &t
1 KIVNERAFBEE 4,112 4,132 8,244 1,856 1,987 3,843 45.14%| 48.09%| 46.62%
2 HRNERAEE 2,745 2,908 5,653 1,321 1,423 2,744]  48.12%| 48.93%| 48.54%
3 HERT R GET RA— 1,912 2,040 3,952 1,011 1,107 2,118 52.88%| 54.26%| 53.59%
4 HEDR/NEREE ﬁE 2,703 2,996 5,699 1,319 1,488 2,807| 48.80% 49.67%| 49.25%
5 P RRERT 2,216 2,308 4,524 1,067 1,145 2,212  48.15%| 49.61%| 48.89%
6 HER/NERATE 4,985 4,977 9,962 2,067 2,259 4,326 41.46%| 45.39%| 43.43%
&t 18,673 19,361 38,034 8,641 9,409 18,050| 46.28%| 48.60%| 47.46%
ESEEAN 2 9 11 0 1 1 0.00%| 11.11% 9.09%
= 18,675 19,370 38,045 8,641 9,410 18,051| 46.27%| 48.58%| 47.45%
SHAE7A 10T SEREFIRKELZE ELIREHLR
FHEHET
R mEFL BHEEHN) _ BEEEHN) _ SRR _
5 % 5 5 8 5 5 = &t
1 KINERFEE 4,112 4,132 8,244 1,857 1,988 3845| 45.16%| 48.11%|  46.64%
2 RN EREEEE 2,745 2,908 5,653 1,320 1,423 2,743  48.09%| 48.93%| 48.52%
3 THERT R IGET RA— 1,912 2,040 3,952 1,011 1,107 2,118| 52.88%| 54.26%| 53.59%
4 HEDR/NERAEKEE 2,703 2,996 5,699 1,319 1,488 2,807| 48.80%| 49.67%|  49.25%
5 hRRBER 2,216 2,308 4,524 1,067 1,145 2212 48.15%| 49.61%| 48.89%
6 HEA/NERAETE 4,985 4,977 9,962 2,067 2,259 4326 41.46%| 45.39%| 43.43%
&t 18,673| 19,361| 38,034 8,641 9,410 18,051 46.28%| 48.60%|  47.46%
TESEEAN 2 9 11 0 1 1 0.00% 11.11% 9.09%
=1 18,675| 19,370 38,045 8,641 9411| 18,052 46.27%| 48.59%| 47.45%




TH4E7R10B8IT SEREARRHZREEERELR
taERT BAEX

ERRE TR BRERZ LT
T - BV & 3,419.000
2 |B x 8 — 2| £ & h R 45.000
3 |Nn H Kk 2| <(xzx3 % A 84.000
4 |t e B T B| 2<te & ® 201.000
5 | a g 2| & = o R 3,291.000
6 | B R E £ 2| =% G = ¥ 1,170.000
7 |l®8 ®m B 5 - 3 70.000
g | BTTOZREND | g iR L b= 23.000
9 |hubHerE | = G > B & 775.000
0 |BExgFOoL]| Y50 = 0 » 1,680.000
mls ®m #| B & L AT 752.000
2 | B & # & #| ¥ ¢ % % = 713.000
13 | e m R ®| x x s & L 5,144.000
14 | = ® &8 %| I = FxeL 58.000
5 | N B k% | A G = 7 84.000
6 | N H K B | = 8 noB Y 132.000
CETET 17,641.000

B DY R T-EH 0

HHEEY 17,641

) 1 410

BEA 18,051

HhIRY - Z 0t 0
BEEGY 18,051.000




[H4E7R10B8YT SEFELFAIRKEHZS EXHERRE
HE ARER
[ H NIE £ LEREBEEDRAM BEH1EES BRERSEYN |4BZHEBEESL

1 FRERT 51.000 47.000 4.000
2 BAREHFO= 2,262.018 2,168.000 94.018
3 nUWVhHEHER 943.268 857.000 86.268
4 ;b 2,733.980 2,261.000 472.980
5 ZIES505% 92.000 89.000 3.000
6 UERER 2,047.689 1,584.689 463.000
7 ERRTER 1,085.310 829.310 256.000
8 SR 744.000 605.000 139.000
9 AARE—=% 36.000 25.000 11.000
10 |(BARHKESR 871.083 746.000 125.083
1 |F=EIZBY 19.000 17.000 2.000
12 |BEHRER 5,884.712 4,471.000 1,413.712
13 |HERER 333.000 290.000 43.000
14 |NHK# 479.935 332.000 147.935
15 |[HEFHE-FEA 19.000 17.000 2.000

BEHHK 17,601.995

HADDEGIVIETHER 0.005

WFROBEZICLBLEVE 0.000

AUNERS 17,602

EMIREH 450

s 18,052

HbHiIRY -2 Dt 0

BEREEREY 18,052




